EARAZROREIERT — 2 N—XBISY —F 2017528250 () 1[EIBR#1H

Ol o R 3% KEF [BET] BE ‘[ﬂi} W ‘Béiﬂélasﬁ] — = &) 200m &

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= t 3 | REAS 2:03.2 1-1-1-1 | 35.8| 84.8 | 1 454 | BEFE (FR)
i1yl | 271y 704 "85 o Gy | 0B AL 2z
LZFAT—IE BYUFPIXFPF4T72—R HET7— L
- # 3 | M. FL-0O 2:03.2 7-6-7-6 |35.2| 85.7 | 2 490 |BE—5 (BR)
EH 3| NFI/TLZ 56.0 (76) g |E@EET
LN=V754 BNXI/T—7 T BAtE
s 5 a3 | JIIEEH 2:03.4 6-5-6-4 |35.6| 83.7 | 4 458 | tEE (ER)
3|55 | RLT7LAY 56.0 (1 1/4) (-1g) | AEIE
RFAd- R B:VZy I TI—"7 J=HrTrp—L
. 4 3 | ERH 2:03.5 3-3-3-3 [35.8| 826 | 5 408 | MARME (RR)
] 4 Jy—%F> hb— 56.0 (3/4) (-14) THER
R:T7F4—=7TVI 7y B:OA-FT1—-F1> [ 4%
S 4 3 | C. x—Jb 2:03.9 2-2-2-2 [ 36.4| 755 | 3 490 |FEBE (FR)
5156 Var 56.0 (2 1/2) (+12) {2 RETE
R:Tv TRy v B:JLAZXT 73— =Y Tr—L
4 # 3 | AHEEHR 2:04.0 8-9-9-8 |35.7| 77.6 | 7 462 | BARE (BR)
617110 -7 JL g:(TS.O 6 o) |KESUT
x> ThHXNAN B:Hraoxy b SzAve ]
. I 43 | K 2:04.3 8-10-10-8 | 36.0 | 74.7 | 8 430 |PARE (FF)
] o | A>T Va3 56.0 (1 3/4) © |EEmESEs
L:ZARM)—hE>R BT7ECT E# AR
K . . 3 | tmER— 2:04.5 11-11-10-8 | 36.1 | 72.7 | 6 440 | EHEF (FEH)
8812/37*/9DVF # 56.0 A 1/2) (-g) |EAERE
LK=LYy —=— B30 F F/ET Lalete]
— 4 3 | KRN 2:05.1 8-8-7-6 |37.0| 64.5 | 9 450 | EAIEF (ER)
9|8[11|=F~EALTH- 5.0 3172 (o) | IVREASE
L:T7TRAFTEINL B:ZA EOX4y b REHS
< e B . . JIARE :05. ~6-3- . . EiERe (EXR)
10 7 SELR=NILT 4 3 56_0* (23015/27) 5-6-3-4 |38.0| 60.2 | 11 a:g;) ot
LI FE2T14 BTN —TLFrvz W7 7 — L
g =i 4 3 | AIOAR 2:07.0 11-12-12-12| 37.9 | 48.3 | 10 | 412 |FHEE (RR)
11 8 ,ra’.-'j—jj_j—/ A51.0 (8) (-2) ERIBZE—E
LR—HNE BTy IH-—F> AK BAIR
i 3 | ESEN 2:08.6 3-3-3-11 [ 40.5| 40.2 | 12 | 418 |MTFTHL (ER)
12Qo| M7 77— 5.0 (10) (g |AHifEE
L:ixFA1z=gr—2 B:vA4F/ I B #2
@ 71 L
) 48.1-35.8
NA>ZA L | 12.7-11.2-12.7-13.2-12.7-12.6-12.3-12.0-11.7-12 .1
® I —F—EBIERL
13=3r= 1,6(4,9)7,5,3(2,11,10) (8,12)
2=1—f— 1,6(4,9)5(3,7)11,10,2,12-8
Gal=7r= 1,6(4,9,7)5(3,11)10(2,12)-8
40—+ — 1,6,4(5,7) (3,11)-(2,12,10)9-8
[ N3
BB 1 200/ 714K 1-3 160H e E 1-3 250 JEHE 1-3-5 660M
8 B 1 110 1-5 290M B E 1-3 270M B 1-3-5 1,670M
3 110 3-5 0| | B & 1-3 450
5 160/

ABICOVWTRDTEEERROODE. TR LIV,




